This document contains comments from the China, TCA, Japan, SAT, UTC and volunteers (Retarkgo, Eiso and Henry).

Part 1: unifications

Conso

lidated Comments
on

IRG N2223 IRG Working Set 2015 Version 4.0

Part 2: IDSes, radicals
Part 3: glyphs / fonts, evidences

Part 4: stroke counts and total strokes.

Part 5: editorials

Part 2

1. IDS Issues
SN Image/Source Comment Comment Comment
Type From
N/A N/A IDS  |Normalize “* to 47 in all IDSes uTcC
N/A N/A IDS  |Normalize i_ (U+2ECD) to i_ (U+8FB6) in all IDSes uTtcC
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Al

Henry

00117 DS — (U+4E8C) ——> — (U+2011E)
GHZRI0019. 13
% Henry
00023 GHZR10027. 12 IDS
% Henry
00285 ('H/HI-E}US‘E 13 IDS
00779 HE]II SAT
e =
GHZRE10523. 01
e IDS would be 15— ]
00809 +
tHZR10028. 1«
00900 ' i{l IDS T+ F¥— +F SAT
G 74452102
00901 ;:’;E IDS [+ T— [ +T SAT
G 71322201
00902 1 IDS! + BZ— =& SAT
G 71632202
00906 IDS! i H:— [+ H SAT

=
’fﬂ

G_Z3861002
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00907 %(\ IDS A H— TS SAT
?
G 72702101
00909 %? IDS I T— T SAT
G_Z3591202
00910 m IDS[ A Mi— L1 SAT
G_Z3002405
00912 ?ﬁ IDS T fH— [+H SAT
G_ 74501206
00913 %H: IDS [ H— SAT
v
G_Z2181102
00914 IDS 55— [I+4 SAT
T
G 73531101
00916 jaél IDS I ¥E— T8 SAT
G 73151303
00919 IDS [+ B— [+ SAT
15
G 72711301
e IDS should be “/Li 5845, Eiso
o929 s DS
G_73701302
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II:I

I
GHZR10435. 13

SAT

A

GHZR42017. 03

SAT

HE

GHZR31633. 10

Henry

i
=

G_Z2931504

uTC

A 74

G_Z0471501

uTC

I
M)

GHZR53142.19

uTC

7R

G_Z74152202

uTC
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e Henr
03632| £ IDS y
GIZR31333. 11
03825 IDS UTC,
l:[ Eiso
G_Z4071301
= Eiso
04181 $r_u_t
(G) .= IDS
GHZRB3793. 06
04302 Y ﬁ”y IDS uTC
G_Z1871405
R IDS should be “/1' & Eiso
04629 }[J- -
G) A IDS
G_Z2402204
IDS should be “ 1f1 ~ [ ”. The evidence shows it is the variant  [EisO
05106 é’% DS form of fi, and fi is the variant form of i as well, so we can confirm
w>* | wo |\
(G) CHIZRS2015. 19 the lower right part (aka - /\ ) of this character is the variant form
of %Z.
< N e | T - ; Henr
05534 IDS add [ HE, refer to U+2A69C Y

GHZRB5122. 02
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N IDS should be “{ii7 = F/J\” Eiso
01973 SN
7 IDS
(T)
T13-2C&0
02046 2 IDS should be “ 117 TifE—” Eiso
/ IDS
(T)
T13-2C7C
Ny IDS should be “iiy FTKR” Eiso
02051 ~ IDS
(T) {
T13-2C74
ST IDS should be “izi /7, Eiso
02448 MA
I IDS
(T) g
T13-2D79
02471 I IDS should be “ E ) 5> Eiso
A
ﬁm-’( IDS
(T) T_FD
T13-2E24
(== IDS should be “ &/} Eiso
02574 5[:[;:
T13-2E49
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02475

73

et Paragraph 4, IRGN1183:
T13-2E26 [1-1] If the 1deograph can be divided into three parts using 2FF2 (_}),where the /efi-
96 & most and right-most components are the same CDC, divide so. (The middle may be
OHAR CDC or SDC 1n this case.)
8 12 Example:
i —
o —
IDS should be “ Z {1 f5 Eiso
0?—?—;19 IDS
T13-2F46
02731 . H
% \Would it be more appropriate to change the IDSto :.....: ;% E’?
T13-2F28
109 H
o RH
5 | 10
03082 jr IDS uTC
U
T13-302C
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At IDS should be “H 4% [X]”. Eiso
03125 £ DS
(T) =]
T13-3033
03366 ] _‘f IDS  |Change IDS from -i2* L to i3 e
T13-3043
03389 . IDS |Change IDS from & F & to & utc
-
T13-3048
03438 —t % IDS |IstheIDS i A% or i B-7MA? uTC
8 ) e
T13-304
03528 —p — IDS  |Change the IDS from [/ MTR to M- —R utc
]I
T13-3056
N IDS should be “~ KIfi.”, TS should be “9”. Eiso
03763 . IDS and
(T) L TS
T13-3070

8/ 41




W IDS should be “ 7[R, UTC,
03765 Iﬂl Esio
IDS
(T) .
T13-3072
03770 T IDS |Change IDS from ©ifT to [ ¥ T utc
ifid)
T13-3073
03854 D), IDS  [Change IDS from [ &%t to [ 5 i) UTC
T13-307A
04299 N —fp IDS S UTC
LS
T13-313C
,I__%_ = IDS should be . Eiso
05547 |
M i = IDS
T13-3159
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00082 H
% \Would it be more appropriate to change the IDSto :..._.: EEE Z) after the
‘ font is updated?
KC%*O%” Page 141, App 1, IRGN2217:
H Henry A, CHANGE
— 00082 KC-00039: unclear evidence: E or ’
' 4
6 ﬂﬁ| 7 =
Evidence: b
i IDS should be /" [17 #”. Eiso
00666 D @
IDS
(K) ) { a
EC-00569
i DS should be “:-7% 1. Eiso
/
00760
(K) o IDS
KC-00715
3 - IDS should be “[fi 45 F [A[A]” Eiso
A
00766
IDS
(K) ~1H
KC-00723
00840 H
57523 Another IDS for consideration: Wj(
KC-00823
37 K
SOARET ) KR
s | 1
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[DS should be “111 7 ». Eiso
01036 == Shotia e
A IDS
(K) KC-04996
01047 ﬁ 2 SAT
KC-00976
S IDS should be “[i14 [A[A]”. Eiso
01200 ,f 0
(K) IDS
REC-01175
/ff* [DS should be 1 F4F07. Eiso
00754 -
K) 7l AT IDS
KC-00704
\ DS should be “{{H 4. Eiso
01609 H%
IDS
(K) ) -
KC-01655
IDS should be “[iA i ——k”. Eiso
01748 *j/'—];(t IDS
(K) A
KEC-01834
DS should be “/ A%, Eiso
01786 =
(K) :| e DS
KC-01888
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— IDS should be “7x[1”. Eiso
02952 | ll]% IDS
(K) i -
EC-03002
03022 — IDS UTC
=
o
/N
KC-03110
03118 r .z IDS  |Change IDS from =47 Bk to =4 B 2K uTC
KC-03188
; UTC: Change IDS from [ /oK% to oK% URC,
03190 :l\é[_ % IDS Eiso: IDS should be “"T"7K*” Eiso
(K)
KC03272
03351 g g IDS  |Change IDS from to "3 " uTcC
KC-03383
03486 i I\ IDS Change IDS from utc
KC-03502
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03564 - IDS  Ichange IDS from &+ {1 to ©i+ {1 utc

UTC,
03648 [EiF) Eiso: IDS should be “ H 5 5}, Eiso
K) IDS

03783 % —a IDS  |Change IDS from [I %7k to (1 % 1=K uTC

03810 r IDS uTC

03963 IDS - uTcC

Eiso

04308 B
(K) I i.? IDS
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1'_- IDS should be ' JE E”. Eiso
04718
(K) | . IDS
EC-04376
04807 LR H
gﬁ Another IDS for consideration: i..i fi_ /§ H:EI E
AN
KC-04516
181 B
LTSN E
17 | 26
00037 {H# IDS should be “/11{ [1”. Eiso
(UK) i\ IDS
UTC-01469
00724 % :I: IDS 0O+ SAT
UTC-01576
» IDS should be “ % ~ ”, Eiso
00852
ID
M j{ 3

UTC-01632
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Eiso

———
00868 ﬁ“: IDS
(UK) :
UTC-01737
01152 )%\é IDS would be 71/ &CDP-8D56 %
UTC-01428
Add additional IDS 11 F(U+2123C). Henry
01824 1k DS This character was identified to be etymological F=(U+2123C) in
UTC-01538 IRGN2155CommentsTolRGN2107 by Chen Zhixiang, expert from
China, but is changed to use & in compliance with PRC'’s
conventions.
03166 Sz RN Y VS H
7"‘%:‘ Would it be more appropriate to change the DS to 7K++
UTC-01044 ~ >
119 K
5 1 11
03191 Nl IDS  |Change IDS from (K to (113K =+ uTc
P
UTC-02871
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03202 W IDS  |Change IDS from (71K to (1K + i utc
[
UTC-01946
03226 g IDS  |Change IDS from uTC
)l\
UTC-01628
¢ toilig T
03252 Q : IDS |Change IDS from (/% to iz =7 O uTcC
-~
UTC-01046
03458 - IDS  (Change IDS from (1 A to [ B+ uTC
A
UTC-02855
03488 IDS  |Change IDS from ('Eto [E-AX uTcC

T ]

11974

UTC-01518
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03503

I3EEN
IS
=

UTC-01659

IDS

UTC

03520

v/

X

UTC-01632

IDS

uTC

03577

=

\?:’

UTC-02897

IDS

uTC

03589

-+

N —

)E

UTC-01961

v

IDS

uTC

03590

Ve

I~

UTC-01962

IDS

uTC

03847
(UK)

L5

UTC-01454

IDS, SC
and TS

Eiso
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03851 ——— IDS  [Change IDS from & to =i+—& uTC
.J_AJ:
S—
—
—
UTC-02147
Eiso
04027 ﬁg IDS
(UK) -
UTC-016353
04134 érzlvr_ IDS uTC
S
UTC-01168
04258 —y IDS [Change IDS from ~R& to T RE UTC
)/\
UTC-02095
04416 > i H

YN
Another IDS for consideration: i % 7
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Eiso

04317
(UK) - IDS
UTC—
_ 01545
04601 E-J‘ IDS should be «“ ], Eiso
| IDS
(UK) UTC-02768
= DS should be “/ 131, Eiso
04771
(UK) IDS
UTC-02738
01489 T H

&

USAT09839

3

65 X
AL
7

\Would it be more appropriate to change the IDS to i«(?
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03419 IDS  |Change IDS from B9 to [T UTC
USAT06375

04081 E IDS |Change IDS from (1% to [ B X% UTC
USAT07168

04089 EHI IDS  |Change IDS from (I @ All to (1 £ Al UTC
USAT08929

04109 EZK IDS  [Change IDS from (@ #5 to [ B 7§ utc
USAT08867

04114 IDS  [Change IDS from [/ @% to [ E& utc
E"\n
USAT09253
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04131 Eh? IDS |Change IDS from [ @%F to [ } 5% utc
USAT09022
Lt IDS should be {71 111 HL,, B, Eiso
05266 Eil_—l IDS
(SAT) ) iy _
USATOS9827
2. Radicals
SN Image/Source Comment Type Comment Comment From
00053 % Radical: 002.0 | — 066.0 (£%). The semantic component is at the top. SAT
G_Z08T72302
- Radical = /K 75, SC =8, FS=5TS =12 Henry
00054 Radical OR
GHZR10035. 23 Radical = K 75, SC =9, FS=3 TS = 13
00088 @ Radical: 005.0 Z— 009.0 (A\). The semantic component is at the top. SAT
G_Z2632201
00137 —‘}\ Radical: 009.0 A— 010.0 (JL) or 145.0 (K). This is a variant of 2. SAT
GHZR10148. 07
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SN Image/Source Comment Type Comment Comment From
00156 {mt Radical: 009.0 A— 046.0 (LU). The semantic component is at the bottom. SAT
GHZR10179. 06
00184 ﬁtﬁ Radical009.0 A— 018.0 (73). The semantic component is at the right. SAT
G_Z1511401
00206 T~ The variant form is . )\ A% A\ & . The evidence shows the radical on Eiso
G) }’l’}\ radical, SC H &5 is 4, so the radical should be “1 —, SC should be “11”, FS should
GHZR10236. 12 be 3.
00260 Radical Radical: 010.0 JL— 021.0 (£)? 3= seems to be phonetic. SAT
G_Z1671103
00270 %’t Radical 010.0 JL— 075.0 (K). The semantic component is at the left. SAT
G_Z0042102
00274 Radical011.0 A— 017.0 (I1)? The semantic component seems at the right. | SAT
G_Z3192401
00279 '):Ll" Radical 011.0 A— 061.0 (10»). The semantic component is at the bottom. SAT
J0
GHZR10189. 13
00287 Radical 012.0 /\— 130.0 (FAl). The semantic component is at the top. SAT

P
G_70381503
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SN Image/Source Comment Type Comment Comment From
00287 S H, Eiso, SAT
/HFE H: The meaning of G_Z0381503 is Hfﬁ (lung). Should the radical be I}“j (Meat,
R130) rather than /\ Eight, R12)? If yes, then SC=6, TS=10.
G_70381503 ) ‘ ok
12 N\ M ) Wt\\ )
BN bwt [pwit]ps, ~x,
R
Evidence: bWt mo“-%%o
Eiso: The Zhuang word is bwt, the meaning is lung (). We can know the
phonetic component is /\. So the radical should be changed to “130 A", .
SC should be “6”, TS should be “10”, FS should be 1.
SAT: Radical 012.0 /\— 130.0 (FA). The semantic component is at the top.
The evidence shows GHZR10115.06 is the variant form of [i]. ff: A 1L %4 Eiso
00300 e . . However, 11 has become b which isn’t the correct semantic component,
= radical, SC : , ,
(G) CHZR10115. 06 we could choose the phonetic component as the radical. Maybe the radical
should be changed to “122 ¥, SC should be “2”, FS should be 3.
00412 :ﬁ)j Radical019.0 71— 004.0 (J ). The remnant of semantic component is at the | SAT
left.
G_Z2841101
00424 @’ﬁ‘ Radical 020.0 “J— 150.0 (#&). The semantic component is at the middle. SAT
G_Z0161201
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SN Image/Source Comment Type Comment Comment From
m J
00425 % RS=94.11 is better, cf #00420 (Radical 94 X:)
G 71421501
JbB This is a Grass script transliterated form of S (%) o Henry
00428 N Radical
GEZS08-05 Radical A (=J|.) is more appropriate.
00458 AYAL RS=99.9 or 55.11 (Radical 99 H)
sHZR10030. 1°
The Zhuang word of G_Z2952302 is loz, the meaning is beam (), and 22 | Eiso, SAT
ZH A, so NEE4E F . The radical should be changed to “19 777, FS
00465 E radical should be 2.
G) G_72952302
- SAT: Radical 025.0 ;— 019.0 (73). The remnant of semantic component is
at the top.
The Zhuang word of G_Z4171101 is rawz, the meaning is about the year, so | Eiso, SAT
- MEE 5% . The radical should be changed to “51 -, SC should be “8”, FS
00466 ﬁil“ radical, SC should be 2
(G) . ' '
G_Z4171101
SAT: Radical 025.0 k— 051.0 (F). The semantic component is at the right.
A The Zhuang word of G_Z1702401 is gaep /kap’ /, the meaning is Eiso
O(()(5§8 % radical. SC combination (4% ). The initial of /% is Z in Middle Chinese. So M\ & &,
G_Z1702401 The radical should be changed to “30 17, SC should be “7”, FS should be 5.
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SN Image/Source Comment Type Comment Comment From
5 The radical in ¥k v2 is -+, which is easy to search. The radical should be | Eiso
00556 i < 2 79
(G) (= radical, SC changed to “24 >, SC should be “7”, FS should be 2.
GHZR10074. 03
00634 By Radical 030.0 O— 137.0 (#1)? The semantic component is at the top. SAT
—
G_Z4351406
Radical +- 33 or %7 78, refer to U+21538 or U+23A49 Henry
21538 == =
| —— g
00748 Radical UCS2003  GHZ-10483.05
GHZR10512. 04 23A49 B — —_——
UCS2003  GEX-058235 Te-5079
00833 % Radical 037.0 X— 125.0 (). The semantic component is at the bottom. SAT
G_Z1061103
00850 ;F Radical 037.0 X— 075.0 (K)? X does not seem to contribute to semantics. | SAT
G_Z4322303
00918 {:dé‘? Radical 039.0 F— 047.0 (). The semantic component seems at the left. SAT
G_Z3122402
00921 Radical 039.0 F— 162.0 (). Z seems to be phonetic. SAT

#

G_74162202
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SN Image/Source Comment Type Comment Comment From
The Zhuang word of G_Z2442301 is hanz, the meaning is “/< 1, and the Eiso, SAT
other cognate variant form is -4z shown by the evidence, so M 1E (aka
X 1E) €44 %% . The radical should be changed to “77 1, SC should be “11”,

00976 i FS should be 4
G) 1 radical, SC :

( G_Z2442301
SAT: Radical 040.0 ~~— 077.0 (Lt). The semantic component is at the
bottom.

01063 m%%‘ Radical 046.0 LLI— 039.0 (-F). The semantic component is at the right. SAT
A
G_72761302
01087 I)k Radical 048.0 T— 037.0 (X). The semantic component is at the right. SAT
G 72591303
R The Zhuang word of G_Z2441402 is hangz, the meaning is chin. Tooth (&%) is closer | Eiso, SAT
01094 I.él]: dical. SC with chin than work (), so M i (i4)JE 4 5. The radical should be changed to “211.1
(G) - ) radical, %7 SC should be “3, FS should be 1.
¢_22441402 SAT: Radical 048.0 T.— 211.1 (i4). The semantic component is at the left
01095 EL[—“ Radical 048.0 T— 046.0 (LL). The semantic component is at the right. SAT
o
G 74461201
01097 ||}| | Radical 049.0 2— 012.0 (/\). The remnant of semantic component is at the | SAT
middle.
G_Z0162301
01155 SAT

B

GHZR10441. 09

Radical 054.0 3_— 134.0 (F3). In accord with U+26998.
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SN Image/Source Comment Type Comment Comment From
01161 %ij] Radical 055.0 7T— 019.0 (#1)? The semantic component seems at the right. SAT
G_Z3771301
The Zhuang word of G_Z2081105 is gumg, one of the meanings is back (i), and the | Eiso, SAT
01176 gﬂ b other meanings are about human organs. The radical should be changed to “130 A, SC
©) H radical, SC should be “8”, FS should be 5.
C_Z2081105 SAT: Radical 057.0= — 130.0 (/Al). The semantic component is at the right.
/ . _ . .
01191 ! ﬁj Radical 059.0 Z — 024.0 (). The semantic component is at the left. SAT
G_Z0431502
The evidence shows it is the variant form of 3|, and the radical on B 4% is JJ. The | Eiso, SAT
01209 Jl\ IJ radical. SC radical should be changed to “18 JJ”, SC should be “3”, FS should be 4.
G ) _ ’ . N . . .
©) GHZR42428. 07 SAT: Radical 061.0:/Lx— 018.0 (/J). The semantic component is at the right.
01269 Radical 061.0 :L— 184.0 (&). The semantic component is at the top. SAT
SN
G_74601101
5 The meaning is one kind of fruits. And J5 is a =455 in Middle Chinese, so its | Eiso, SAT
01340 %‘Z}\%{ dical pronunciation is possible to become similar to /fin/. The radical should be changed to
(G) 7 radica “75 &, FS should be 2.
C_Z1582101 SAT: Radical 063.0/7— 075.0 (/X). The semantic component is at the left.
7~ The evidence shows the phonetic component is 7. The radical should be changed to | Eiso, SAT
0%(‘53 2 radical “37 &, FS should be 1.
G 72751409 SAT: Radical 064.0F— 037.0 (1X). The semantic component is at the top.
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SN Image/Source Comment Type Comment Comment From
J: According to the evidence, the semantic part would be “#7”; radical shuold | J, Eiso, SAT
be 1.
01426 ﬁj_
G) ]'I'] radical Eiso: The Zhuang word of G_Z4451301 is sai, the meaning is strap (7). The radical
G_74451301 should be changed to “50 111, FS should be 1.
SAT: Radical 064.0F— 050.0 (7). The semantic component is at the left.
j—\ The Zhuang word of G_Z1022302 is daeuh, the meaning is ash (#k). The radical should | Eiso
01516 }I(J" radical be changed to “86 ‘K, FS should be 1.
(G) '
G_71022302
1_ The Zhuang word of G_Z1031201 is daeuj, the meaning is 2. The radical should be | Eiso
01C5§17 ﬂ:::l—* radical, SC changed to “9 A\, SC should be “10”, FS should be 1.
(©) G_Z1031201
01546 %}‘ _ The evidence shows it is the variant form of 7 (U+23086), 5% is the phonetic | Eiso
©) _ radical, SC component. The evidence shows the radical on B %4 is FF. The radical should be
GHIR42341. 06 changed to “24 -+, SC should be “12”, FS should be 4.
01554 [:ljJ Radical 019.0 71— 072.0 (B). The semantic component is at the left. Revert | SAT
:I: previous change.
G_Z4191104
]J The Zhuang word of G_Z1091301 is dan, the meaning is about cutting. The radical | Eiso
0%(5;?6 % radical should be changed to “18 JJ”, SC should be “11”, FS should be 3.

G_Z1091301
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SN Image/Source Comment Type Comment Comment From
The Zhuang word of G_Z3561201 is ndeiq /dei® /. This pronunciation looks like to | Eiso, SAT
study from the original form of %21t i #5E and so on, so the initial of %} had been the
voiced one, and it’s so common that /ei/, /ui/ & /ei/ appear alternately in # Jird &

01594 E}ﬁ dical. SC 4. The phonetic component is %7, and the meaning is star (&), so the radical should be
(G) radical, back to “10 H”, SC should be “10”, FS should be 3.
G_Z3561201
SAT: Radical 041.0~}— 072.0 (H). The semantic component is at the left.
Revert previous change.
Henry
01647 Hilj:, Radical Radical 74 H ——> Radical 130 4.
GHZR42225. 08
]Hj" The Zhuang word of G_Z1641305 is fwnz, the meaning is firewood. The radical should | Eiso
0%;334 AN cadical be back to “75 A, FS should be 2.
G_Z1641305
%33 The Zhuang word of G_Z0431701 is byonj, the meaning is #H. The radical should be | Eiso
ng’ = radical. SC changed to “124 3, SC should be “17”, FS should be 3.
G_Z0431701
LE% Radical 87 )]\, SC =9, TC = 13 (counted as if right hand side were 5%). Henry
01836 Radical
G_Z0912201 Rationale: Phonetic 1F, Semantic <.

29/ 41




SN Image/Source Comment Type Comment Comment From
The Zhuang word of G_Z0851403 is conh /eco:n® /. As we know, all the /s-//ts"-//te-I/te"- | Eiso, SAT
/ et. al had become /¢/ in Zhuang language. The phonetic component is ~f, and the
01940 /K _ ‘r‘neanh}g is “Vi. ¥ iﬁ,”’ which are all about water, so the radical should be back to
(G) -J_ radical, SC 85 7K, SC should be “3”, FS should be 5.
G_Z0851403
SAT: Radical 041.0~}— 085.0 (7K). The semantic component is at the top.
Revert previous change.
The Zhuang word of G_Z4141301 is rangj, so we can clear the phonetic component is | Eiso
02043 ﬁ radical. SC 7R easily. This character MZ244 R, and the original meaning of /7 is about nursing
(G) ' which is similar to pregnancy. The radical should be changed to “4 ) ”, SC should be
C_Z4141301 “11”, FS should be 5.
02098 i‘fji 039.0 ¥+ Radical — 085.0 (7K). The semantic component is at the top. SAT
G_Z0442501
The Zhuang word of G_Z3701201 is ngaeuz, the meaning is shadow, so M4 24F%. | Eiso
02(3;64 tl::'/{,! radical, SC So the radical should be changed to “59 Z”, SC should be “4”, FS should be 1.
©) G_73701201
The evidence shows GHZR42259.12 is the variant form of [, and the meaning has no | Eiso
relevance to A, so it belongs to the miscellaneous department. Note: There aren’t
03456 HJ% radical Radical Moon on #£#E, all the characters which are Radical Moon and Radical Meat are
(©) under Radical Moon, so the radicals information on #E#& hasn’t reference value on the

GHZR42239. 12

issue to distinguish the differences between Radical Moon and Radical Meat. The
radical should be changed to “74 H”.
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SN Image/Source Comment Type Comment Comment From
The Zhuang word of G_Z4222304 is riengz /yi:n?, the meaning is following (¥R, f&). | Eiso
The pronunciation of R is /lin/ in bikFV> HSANFISEE, JLifg2 B SEALAE, Ak 905,
fli/K P55 and so on. This component J5 is the folk variant form of 4%, and the meaning
03529 | . o h _ \ _ ant
G) radical, SC of 1% is close to #R and Fi5. So we can confirm the semantic component is J& which is
G 74222304 the variant form of 1%. The radical should be changed to “30 1, SC should be “10”,
FS should be 4.
HIZ The Zhuang word is haenx, the meaning is #. The radical should be changed to “163 | Eiso
03530 % radical. SC 7, SC should be “9”, FS should be 5.
(G) - '
G_Z2372201
The Zhuang word is yiet /ji:t7/, the meaning is rest (fK2). The pronunciation of Ifil is | Eiso
03767 . 121t in BE PO FE 1L, fyt/ in 38 V0 R SRR G R P55, 28 VU RE R R T, R VT R
radical, SC - . . . .
(G) C 75071404 HEAD-F-55. We clear the semantic component is /K. The radical should be changed to “9
—eat N, SC should be “10”, FS should be 1.
?jj The Zhuang word is coh, the meaning is 7. The radical should be changed to “30 17, | Eiso
0?59 [=] radical, SC SC should be “10”, FS should be 4.
G_Z0831101
The Zhuang word is coj, the meaning of ~%b is A and %X 1%. We clear #J is the | Eiso
03804 > ‘T_Tg, . phonetic component. 5% is the corruption of % (aka 7%) because one of the meanings of
(G) N radical, SC s P, = 52 and %% should be mixed easily for handwriting. The radical of 3Z is
G_Z0841103 X, but the radical of %Z is JI. I suggest the radical should be changed to “87 JI\”, SC
should be “11”, FS should be 4.
AN The Zhuang word is goek, the meaning is J5H. The radical should be changed to “37 | Eiso
05(325)36 N radical, SC >, SC should be “9”, FS should be 3.
G_71981302
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;1% The Zhuang word is huk, the meaning is /& %<. The radical should be changed to “61 | Eiso
0?(93?1 ﬁ: S radical. SC 1>, SC should be “16”, FS should be 3.
G_Z2582201
04279 fé‘( Indexing Radical | Is Radical #162 7 correct? Radical #152 ZX might be better e
GHZR63854.02
NS The Zhuang word is geng, the meaning is B, The pronunciation of i is /ken/ in & | Eiso
04302 IIIE radical. SC. TS Pa LK BRI L 405E, /khen/ in 3 PO R FOEF-5G HRE T, /ken/ in B PERERK BRRLK A
(G) — . “F-5F5. We can confirm the semantic component is '5%. The radical should be changed to
G_Z1871405 “32 -, SC should be “11”, TS should be “14”, FS should be 3.
‘i@ The Zhuang word is guiz, the meaning is % i, so we can confirm the semantic | Eiso
04316 m radical, SC, TS component is %, The radical should be changed to “57 5>, SC should be “18”, TS
©) C 22071403 should be “21”, FS should be 1.
AV
‘\ J
04378 FH Radical should be P& (RS=164.15)
G 74651301
The Zhuang word is maenz, the modern meaning is Chinese yuan, which is a typical | Eiso
Sino-Zhuang cognate word, and it’s popular in Cantonese spoken area as well. The
4 - original form is 3¢ (monetary unit in ancient China). 77 (aka &) is the semantic
0((5;‘;;6 Ya] radical, SC component which means money in this case. The pronunciation of ['J is /men/ in fi/K

G_Z3042301

RO L0050, BRI B kAR, REMSALBRSFRE, BEEAKME (AT B FES. So we can
confirm F is the phonetic component. The radical should be changed to “1 —”, SC
should be “10”, FS should be 2.
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The Zhuang word is muenz, the meaning is concealing (B&f%). The book (7B T4 | Eiso
FT) (P. 53) written by ELB%/Ji shows the semantic component is 3. The radical should
be changed to “85 7K”, SC should be “19”, FS should be 2.
04599 E’lﬁ radical, SC
©) G_Z3332501
The Zhuang word is henj, the meaning is yellow (#), and the evidence shows the | Eiso
. variant form is | # K. The pronunciation of [ is /hen/ in J& 78 & 4 (1%, BE 7GR 2E A
04623 ]ﬁzl radical SC 1, R PUIERRTE /K (16, 3 B4 T H75% which belonged to Guangxi before 1952 and
©) - ' there are so many Zhuang people in A%, 5<7c PU4EF5E and so on. We can confirm

G_Z2501102

this character M ¥ {#4 %, so the radical should be changed to “201.1 %, SC should
be “3”, FS should be 4.
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The Zhuang word is rwix, the meaning is badness (A~ 13%). One of the meanings of | Eiso
M is badness, please see (FACERE 5 5 K B M 7 S5 ) (P. 197) written by
Z2% & [N, T is the variant and simplified form of Ef. We can confirm the
semantic component is H. (aka [#). The radical should be changed to “1 —, SC should
FT; be <16, FS should be 1.
| wiasc | (Mliseur @A~ |5~ | BRI~
G_Z4352403 .
OxF FH: ~xn7|~TEamE
e O ~HE|~-A|IBRF~ O
v The Zhuang word is VIZ, the meaning is penis. I is a vulgo of penis. So we can confirm | Eiso
04(7;75 $ radical, SC this character M 5N #%¥. The radical should be changed to “26 [, SC should be “14”,
(G) FS should be 5.

G_74901402
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The Zhuang word is iep, the meaning is pickle. It’s a typical Sino-Zhuang cognate | Eiso
word, and it’s popular in Cantonese spoken area as well. In general, it would be written
as it in Cantonese text. Please see the following picture from (FiEEERIM) (P.
324) written by BB B, 53C: <P, #ith, J\HZRE, v REEHE. ” The meaning of
P4 is related to i and 7K. The radical should be changed back to “85 7K”, SC should be
“9”, FS should be 1.

[BE]yib® @B E.HKxK,
A | REEM LW R HE O
© | o saeeor T W % 32 G B O R B R 47 AR
Ji& Bh B 5 3 ~ 3 5F W5 &F AR me ke
wrrnaans O EMIEY & E
AREVER : AW E K ~E—
R, 5 3 0k € 5 kb

Radical X, SC=9; FS = 1. Henry
= m = Reference: % (U+6ABE).
03632 BR Radical BABE &k ok Kok KK
GHZR31333. 11 #7514 7{‘71(- 7F7f§ m %} ij L; ﬁ
G56050  HG3EA  T35779  J1-4540  K23D5D

35/ 41




SN Image/Source Comment Type Comment Comment From
03408 —_ . Indexing Radical | UTC: Change the Radical to #74 A or change the bottom component to be | UTC, Eiso
AN Radical #130 &I per TW conventions
iy Eiso: The evidence shows T13-304B is the variant form of f. The radical should be
T13-304B changed to “74 H”, TS should be “8”.
11 The evidence shows the earlier form of T13-304C is H:. The radical should be changed | Eiso
03413 r 1 radical, TS, IDS, | to “74 H”, TS should be “8”, IDS should be “./ £ and the T glyph should be
(T) JLl font design updated.
T13-304C
03438 &, Indexing Radical | Is the Radical #130 A or #74 B? Is the lower-right component Radical #130 | UTC
A or #74 A? If #130 A, they do not follow TW conventions; also, its IDS,
LA #, does not match lower-right component; there are multiple issues
T13.304E with this particular character
00754 SAT

E
oy
RC-00704

Radical 061.0 /L — 032.0 (1£)?
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00304 =1 UTC-01328 is a FH3HE T, (HECEERE) written by $H/EH Eiso
(UK) % shows that M 1%, so the radical should be changed to “172 £, SC
UTC-01328 should be “3”, FS should be 2.
&
00408 1 UTC-01686 is the simplified form of %, and the radical of % is I1,sothe | Eiso
"Qf radical, SC radical should be changed to “30 H”, SC should be “6”, FS should be 5.
(UK) i
UTC-01686
00592  — Indexing Radical | UTC: The Radical cannot possibly be #154 H; Radical #30 O seems the Utc, T
7L< most likely, with SC=8 and TS=11, Is this an editorial error?
I T: Change Radical #30 O, the radical cannot possibly be #154 B.
UTC-01615
;F{ RS=172.7 is better J
00864 }ﬁ‘ (Chen Zhuang: Japan means RS27.7? Radical | ? )
UTC-01674
01175 =2 Radical 057.0 S— 163.0 (&)? SAT
B=u
UTC-01617
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02307 I_'EK Radical 029.0 X — 045.0 (H). X seems to be phonetic. SAT
UTC-01450
4= The evidence shows it is the variant form of 5% (U+23A8C). The radical should be | Eiso
0(392)9 E& radical, SC changed to “79 4>, SC should be “9”, FS should be 1.
UTC-01416
PGy The phonetic component is #¥, the semantic component is 4. The radical should be | Eiso
04257 TF radical, SC “167 4", SC should be “14”, FS should be 4.
(UK) _
UTC-02904
The evidence shows “USATO05880...... BRX...... A CAF USAT06181 By | Eiso
AL M %R USAT05880 A A . .....” Compare with 532, we know
00301 ﬁﬁ radical. SC USATO05880 is the variant form of #{ (U+655D) and USAT06181 is the
(SAT) USATOB181 ' variant form of PR (U+3840). The radical of P& (U+3840) is 111 and the
evidence has shown the radical of USAT06181 is Ifl. Therefore, the radical
should be changed to “50 1, SC should be “6”, FS should be 4.
03833 Indexing Radical | UTC: Change Radical to #18 JJ or #74 H, or at least add additional UTC, T
kRSUnicode value(s): 18.4 and/or 74.2
USAT08338 T: Change Radical to #18 JJ or #74 H.
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8L The radical of & (U+29810) is 1, so the radical should be changed to “185 &, SC | Eiso
01086 i radical. SC should be “8”, FS should be 1.
(SAT) ’
USATO7220
The evidence shows “USATO05879...... HERD BB = R B R a e R | Eiso
01139 % radical fEM ... ” Compare with &t i & FEEEF 8, we could found out “4EE] 2 should
(SAT) ) 4 be corrected to “FiEH[ 2. USAT05879 is the variant form of J#, so the radical should
USAT05879 be changed to “30 7, FS should be 4.
The evidence shows “...... >/ PRAE S S IR AR AR K R U/ EUSAT06491 | Eiso
081:5'3 M radical WA EUE SR - 5 Je i A, so we can confirm USATO06491 is the variant form
(SAT) o of YX & JE. The radical should be changed to “85 7K”, FS should 3.
USAT06491
‘E The evidence shows “Gt LUSAT093565HH”, so we can confirm it is the variant form | EiSo
01338 - of 1. The radical should be changed to “181 B, SC should be “4”, FS should be 1.
(SAT) =4 radical, SC
USAT0935
The evidence shows “......USAT05873...... 3% 8 il L= MR DR AE B SCfE | Eiso
01642 q I] radical k... ” . so this character is the variant form of Y. The better radical is “130 [A]”.
(SAT) Y
USATO5873
Py The evidence shows “...... 0 s S i) 448 Ml v R AR S S L T R S B | Eldso
01646 1;}5 radical H BN ZEUSAT09486 7 2 Mk I 715, so we can confirm USAT09486 is the
(SAT) - variant of fifé, and the radical of fIii is [Al. We can clear the radical which the evidence
USAT09486 point out is | (U+2EBC) not  (U+6708), so the better radical is “130 A",
;": The evidence shows “USAT067609...... HE R EIEE G .. ” so we can confirm | Eiso
01648 H _[I: radical USATO06769 is the variant form of 5. The radical should be changed to “130 P”.
(SAT)
USATOGTE9
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The evidence shows “/f%..... AN S BRI 2= AT IR K e 3 R IRt 7t 4> IE < | Eiiso
YEIE7REUSAT06929 USAT06929 1L I ik it I S NL & P A K ... . Compare
01658 H% radical with K v2 and BEgE, “FMIE 52 should be corrected to “4M8 2, which the original
(SAT) ) Y] L5 on #E#E is 17, but the initials of #h and 3 are both %% in Middle Chinese. So
USAT06929 we can confirm USAT06929 is the variant form of Jli¥ & Ji¥, and the evidence had told
us the radical is [Al. The radical should be changed to “130 [A”.
on The evidence shows “USAT07093 & % <. ..... BTt RS L ”. so we can confirm | Eiso
01659 Hl_-ﬁ radical USATO07093 is the variant form of fi# (U+2680D). The radical should be changed to
(SAT) = r “130 97,
USATO7V094
- The evidence shows “Ji...... HSCAEUSATL0197 85y E e = E it .. ... ” so we can | Eiso
01661 H% . confirm USAT10197 is the variant form of /i and the meaning is about human’s
radical .
(SAT) US G;Ti:j]_g' organs. The radical should be changed to “130 [A”.
; i
The evidence shows “#t. ... HE.. AL BAT AL ZAEMPE B 22l | Eiso
_ YEUSAT10180— 1" which the original text from i3 is “BAT t ML M BRBR 7R
02330 ﬁ and some scholars thought & should be corrected to “#” (Bt L#k) or “E (Z=572E).
. . . i o . 5 .
(SAT) j radical, SC We .can confirm USAT10.180 |s. the variant form of #Z. The. radical of #% on Kgngm
USAT10180 Dictionary and current Unicode is 7, but I think the best radical of USAT10180 is }.
it 3 shows the radical is %[, which means /< U¥ (aka #), so we can choose - as the
radical. The radical should be changed to “55 -, SC should be “12”, FS should be 1.
The evidence shows USAT05049 is the variant form of 55. This left component H is | SAT
03439 ? . the imprecise form of =, which is included to the miscellaneous department of the
(SAT) ES&TJEJ _;49 radical Radical . The radical should be changed to “74 .
f o
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The evidence shows “[BL...... 7 FHE = MW HE R E T2 BUS AV 2 4MESC | SAT
Ve 675 B SAZE TLUSATOS573 1 B AEAE M AT A | ......”. Compare with the
03994 %/’ radical. SC other version of &3¢, “FL.USATO05573f 52" means “F A f#552”, and (R H Al “FF
(SAT) d ’ 5 is an idiom described phoenix (JELEL). So we can confirm USAT05573 is the

USAT05573

variant form of #. The radical should be changed to “59 Z”, SC should be “7”, FS
should be 3.
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